Efficiency vs dr

x 0.1
Q
©0.09
£0.08
<
()
50.07
=
©0.06f{f:
0.05f |
0.04f |
0.03f |
0.02f{f
0.0 |
op o

1.2J -| —=— DQM_CKF_XiMinusPU_base

Ratio

QM CKF X|M|nusPU retraanIdFlIeleS v2_prelimWPM_epoch2

L8
0.8 :

1078 1072 107t

W - T

1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.01
n0.009
-
gJ.OOS
9.007
>
2.006
Q
:-'=0.005
@
0.004
0.003
0.002
0.001
e

Ratio
N

0.95

1072 107
AR(TP, jet)

=
S
w

Efficiency vs pu

50.02 -
a 3 : : : : : :
R . . EE - FEEE PR B L T E T
QO
o e O e | S UL IR
[} I N N . N N N
D014l S R
£ E : : : :
D.012F - Hf-J {44l
0.01F-~ff-ih-- 1 A
0.008f - H { R R
0.008F- -+~ [fi- [\ Hlif- - Figp ff-oip oo
0.004f---[fi-*-{-i ; e

0.002f
L

....................

Ratio

040 60 80 100 120 140
Pileup



	Contents
	Page 1


